Ef~m hEles 1SO9001:2015

KHB3K ( BK3) & 5 — {ii = i& Bk i3

e . » /s 1 = .
KHB3K(BK3) Two-position Three-way High Pressure Ball Valve JEREOEEE RS pN DNLW RA  dl i L L1 B H hl h2 SWI1SW2 S
onnection port sketc rief Mode (bar)
BIZiHEE Model Cod di KHB3K-M16x15 500 06 06 11 M16x1.5 11 69 40 26 445 135 33 09 22 275
e =k odel Lode M RA KHB3K-M22x15 500 08 08 16 M22x1.5 12 76 42 32 505 16 36 09 27 33 e
£ KHB3K-G1/2-13-LN-1111-01-1 m KHB3K-M27x15 500 10 10 20 M27x1.5 12 76 42 32 505 16 36 09 27 33 I
"ﬂ 1 2 3 45 6789 10 11 KHB3K-M30x15 400 16 15 24 M30x1.5 13 84 48 38 595 19 45 09 32 37 'ﬂ
LEFIS : KHB3K (BK3) RIIZM =B ; I owo KHB3K-M36x2 400 20 20 30 M36x2 15 103 60 48 715 25 55 12 41 455
2RSS  GF MR AR, *FSR PT**. NPT**; - , KHB3K-M42x2 350 25 25 35 M42x2 18 116 65 57 80.5 285 64 12 50 54
3F4 . . -4
3RFREE : 04, 06, 08, 10, 13, 16. 20, 25, 32, 40, 50. KHB3K-M52x2 350 32 30 40 MS52x2 20 149 84 75 1025375 84 14 60 625 -
A AIREHVME : L-LBWLIERE. T TEALEEIRG | AEAATEIBIBA-TTHRME (HB3K-M60x2 350 40 38 45 M60x2 22 174 91 85 113.5425 95 14 70 84 4.
%/—& iE 3 = E TR S B Tk 1Rl 1K 2| H1) SEREELY - _ 4 ~ w5y - sz
% g:gﬁlgia;*: fJl__ijzsnf EEﬁfzﬁ,égmm ) IR - N-PRIRL,. W-IMRLL ; c KHB3K-G 1/8 500 04 06 G1/8 14 69 40 26 445 135 33 09 22 345 ﬁ%
! PO ) ' KHB3K-G1/4 500 06 06 G 1/4 14 69 40 26 445 135 33 09 22 345 '
8= TES, MBI - 1454, 3-316TRW KHB3K-G 3/8 500 10 10 ? G 3/8 14 72 42 32 505 16 36 09 27 36 & f
L 8IREIFTH} 1 1-POM (RFES) . 2-PTFEGRIAZIE) | < 4 : s
14 9 IR SRS ZE I+ - 1-NBR(T B ) . 2-FPM/FKM&EKE ) ; d1 KHB3K-G12 500 13 12_~ G1/2 14 8 47 35 525 18 38 09 30 34 g
3% 10 FMA: 01-CRIEES ST . 02-BRIEFSSHIFER. 03-BRIENEIFER. LW, | sw2 KHB3K-G 1/2 400 16 15?6 1/2 16 83 48 38 595 19 45 09 32 42 %f
£ 1R 09-RHFHE ; KHB3K-G 3/4 400 20 20 G 3/4 18 95 60 48 715 25 55 12 41 49 i@ =
: 11 REAE: 1-IBA=MNE ; 2-FHEEE i KHB3K-G 1 350 25 25 / G1 21 113 65 57 805 285 64 12 50 56.5
r i ENSEY R R RN, - ]1 ; tl ’ KHB3K-G11/4 350 32 30 / G11/4 22 110 84 75 102.537.5 84 14 60 625 &
L ML EAES | PTFEMBHERR &S TIFEIF#1d100bar : KHB3K-G11/2 350 40 38 _~ G11/2 24 130 91 85 1135425 95 14 70 61 i1
SRR
g ® s (%ﬂ%ﬁ?s?%%gi@ ) " o Satl vl KHB3K-G 2 350 50 48 G2 26 140 100 104 131 52 112514 90 66 ot
= . ri N WO- 1Ition ree-w I I r \ B
: 2 aint Code:GHn, M. vrIR. 1SR, P NETH: ool vave KHB3K-NPT1/8 500 04 06 NPT1/8 11 69 40 26 445 135 33 09 22 345 ;
iglo”mvmfl DEiam.eter:OL4\L ?6\ 08\T 1T0+ 13, 16, 20, 25, 32, 40, 50, NPT(PT) KHB3K-NPT1/4 500 06 06— NPT1/4 11 69 40 26 445 135 33 09 22 345
= .Ball Valve Enginery:L-L Type, T-T Type —
g g 5.working oil port(difference between three way to straight way) Join Thread : di KHB3K-NPT 3/8 500 10 10 / NPT 3/8 11 72 42 32 50.5 16 36 09 2736 @ij
5 N-lferrlm)alj /W-male threald. ] | | | KHB3K-NPT 1/2 500 13 12 / NPT1/2 14 83 47 35 525 18 38 09 30 34 i =
o 6.Valve body/joint material:1-carbon steel, 3-316 stainless stee LW 3
7.Ball body/ Valve stem material:1-carbon steel, 3-316 stainless steel SW2 KHB3K-NPT1/2 400 16 15 / NPT 1/2 14 83 48 38 59.5 19 45 09 32 42 2
_ 8. Ball Sealing material:1-POM 2-PTFE ! KHB3K-NPT 3/4 400 20 20 _~ NPT3/4 15 95 60 48 715 25 55 12 41 49 _
& 9.Sealing material(linking valve body/joint/valve stem):1-NBR 2-FPM/FKM B ! \Q KHB3K-NPT 1 350 25 25 / NPT 1 17 113 65 57 805 285 64 12 50 56.5 £
§z 10.Handle Type:01-C type zinc alloy crooked handle 02-B type zinc alloy crooked handle | : : : 25
o 03-B type casting steel crooked handle 09-without handle A KHB3K-NPT 1 1/4 350 32 30 / NPT11/4 18 110 84 75 102.537.5 84 14 60 62.5 o
&) 11.Surface Treatment: 1-SILVER ZINC PLATED 3 ) 2
PS:The Material Pressure parameters corresponding to the productis carbon steel. AR L2 250 2l 2 / NPV L2 120 ol 50 R D L2 UG %
1111 is the _nqrm.al mix ,the PN no more than 100bar when using PTFE. KHB3K-NPT 2 350 50 48 NPT 2 18 140 100 104 131 52 112.5 14 90 66 ¢
. (other specifications please contact us) KHB3K-06LR 500 04 04 06 M12x15 10 67 40 26 445 135 33 09 22 345 .
i 2 2 s 2
g 3 1 3 1 LR KHB3K-08LR 500 06 06 08 M14x15 10 67 40 26 445 135 33 09 22 335 -
5 i@ Py . . / \ / |J‘\ KHB3K-10LR 500 06 08 10 M16x1.5 11 74 42 32 505 16 36 09 27 36 i) £
£ 4 S| Ll z o HE
3 8 EIfS7FS Hydraulic Schematic 3 2 3 z 24 KHB3K-12LR 500 10 10 12 M18x15 11 74 42 32 505 16 36 09 27 36
L T di KHB3K-15LR 500 13 12 15 M22x1.5 125 82 47 35 525 18 38 09 30 34
. RA KHB3K-15LR 400 16 12 15 M22x15 12 82 48 38 595 19 45 09 32 40 A
g% ” Liﬁ;{ KHB3K-18LR 500 13 12 18 M26x1.5 125 82 47 35 525 18 38 09 30 42 =3
s 1@ S i i i s
SMEZRT Overall Dimension KHB3K-18LR 400 16 15 18 M26x15 12 82 48 38 595 19 45 09 32 42 £
L SwWi1 Il Sw2 KHB3K-22LR 400 20 19 22 M30x2 14 101 60 48 715 25 55 12 41 49
- s KHB3K-28LR 350 25 24 28 M36x2 14 108 65 57 80.5 285 64 12 50 54

opa

L T [ T2 yup3k3sir 350 32 30 35 M45x2 16 141 84 75 1025375 84 14 60 66 ;%;g
KHB3K-42LR 350 40 36 42 M52x2 16 162 91 85 1135425 95 14 70 61 *%4

THE R dl

‘@ sHOL ' ici| M E WP KHB3K-08SR 500 04 05 08 MI16x1.5 12 73 40 26 445 135 33 09 22 345 nﬂ
| SR KHB3K-10SR 500 06 06 10 M18x1.5 12 73 40 26 445 135 33 09 22 345
o ‘ - . KHB3K-12SR 500 08 08 12 M20x1.5 12 76 42 32 505 16 36 09 27 36 B
f_;f ] N 2d41 KHB3K-14SR 500 10 10 14 M22x1.5 14 80 42 32 505 16 36 09 27 36 f;‘E
S KHB3K-16SR 500 13 12 16 M24x15 14 86 47 35 525 18 38 09 30 44 e
— ! L - RA KHB3K-16SR ~ 400 16 13 16 M24x15 14 86 48 38 595 19 45 09 32 37
LW KHB3K-20SR 500 13 12 20 M30x2 16 90 47 35 525 18 38 09 30 44
. KHB3K-20SR 400 16 15 20 M30x2 16 90 48 38 595 19 45 09 32 37
L1 - ! SW2 kHB3K-255R 400 20 20 25 M36x2 18 109 60 48 71.5 25 55 12 41 49
L 77/ KHB3K30SR 350 25 25 30 M42x2 20 120 65 57 805 285 64 12 50 60

KHB3K-38SR 350 32 30 38 M52x2 22 153 84 75 102.537.5 84 14 60 76.5

YR Bolev WWW.BOLEV-HYDRAULICS.COM




